VIS TS ) 7 e 2 OO B AR DRI

[HAEX] (R B EE AR 22=T 1=

HTS B e = O R (A

? Hh NPOZE FE 5 FI| & PR R R - fEEs
IR RS 4 T ik p 5359
A T Bk
B { A
< %% 1L Eifz~ra (L Eifz~ra {Z Eifz~a
~ b b i
RIS 22 1 1 |BAESI=FYLURA—5 RIS 1 BAF/NER 0 25
MO8 B/
UEE 26 1 1 NPOE A [FIETF=< 3 FELFBETCISY 1 MR # &) k=t 32
KBRS TEE 2R
BREERXRZER
i 28 1 3 NPOEAN EZ 1 BENER 1 (¥k)POSIEEEEREGETATAT| 34
EEHhES
HEBH/NER e =
A 17 2 0 2 =01 qﬁﬁ 1 FrRItEHRASHEKRIRTIE 22
5k 18 1 0 1 {miEINER 0 20
= 30 2 0 2 ﬁ;ﬁg$§§ 1 1A B RE 35
B 12 2 0 0 1 FRIEEHRA S KRR ITIS 15
BB /N
(= 23 1 0 2 K 0 26
M’iﬁ;&(%)
B2 17 1 1 HIERBE EHERS 1 BRI 4 R bER—t 24
FAEEEE)
RLES 9 1 0 0 1 | EtXIREEG27MA) 11
2 (%fg) 20.20 1.30 0.60 1.30 1.00 24.40
. Hirlgi e 10 10 1 8 7
s A%
(] s 20.10 1.30 0.60 1.30 0.90 24.30
] (lZ?if/J)
HisEr 10 10 4 8 6

(2]



